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Q1 Answer the following question in the answer sheet showing your full work:
(12 points) w

For questions 1 and 2 Let z1=2+3j , and 22 = 4-5j, find in the form (x+jy) the

following:
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C) Find the solutions of the following complex equation:

827 ~(36-6/)z +42-11j =0

D) Find the roots lof the following: 3+ j4

\ .
E) Solve for z in the following equation: e* =4-3;

| e~
F) Find in the form x+jy the following : (1— )"

\
Q2) Solve the following IVP: (4 Points)

e [2cosy dx —4inydy]=0
y(@©0)=0

\
Q3) (4 Points) A balloon is equipped with temperature and altitude measuring
instruments. The temperature (Tr) on the ground is 10°C.

10— 0.05:
"= 1415D

\
Where Tr is the mTasured temperature, t is the time, D is the derivative operator.

If the balloon is released at time zero, and thereafter rises upwards. What temperature
does the balloon re:port after 10 seconds?
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